oy | Gee | Gd

14+25-(2x4)= 76 +12—-(5x6) = 124 + 373 - (12x9) =
Find 50% of 350 = Find 60% of 350 = Find 81% of 350 =
1273 -753 = 2643 — 975 = 8652 — 3654 =
73 = 83 = 123 =
2904 =+ 22 = 3432 + 22 = 4334 + 22 =
0.6x10= 0.06 x 1000 = 0.006 x 10 x 1000 =
6 X 3 = 9 x S - 12 x == =

5 12 15
875+7 = 1246 + 7 = 1491 +7 =
753 x4 = 1285 x 4 = 7352 x4 =

_ +1276=6542 _ +2531=12542 _ +7652=26432



I S R

14+25—-(2x4)=31
Find 50% of 350 = 175
1273 -753 =520

7° =343

2904 + 22 =132

0.6x10=6

3 18 3
6x-=—=3"
5 5 5

875+7=125
753 x4 =3012
5266 + 1276 = 6542

76 +12 - (5x6) =58
Find 60% of 350 = 210
2643 — 975 =1668

8% =512

3432 + 22 =156

0.06 x 1000 = 60

8 72
OIX—=—=
12 12

1246 +7 =178
1285 x4 = 5140
10011 + 2531 = 12542

124 + 373 — (12 x9) = 389
Find 81% of 350 = 283.5
8652 — 3654 = 4998
12°=1728

4334 + 22 =197

0.006 x 10 x 1000 = 60

12 144 9
12 x—= =9 —
15 15 15

1491 +7 =213
7352 x4 = 29408
18780 + 7652 = 26432




